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NEW QUESTION 1
Given that a gateway node should have a dedicated user credential for connecting to the API Platform Management Service, what grants should be assigned to
that user?

A. Node Service Account
B. Deploy API

C. View all Details

D. Deploy to Gateway

Answer: A

NEW QUESTION 2
Which two are NOT default start and end events in Process Cloud Service?

A. Folder start and None end event
B. SOAP start and SOAP end event
C. None start and end event
D. Task start and end event

Answer: BD

Explanation: https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-and-end.htmi#GUID-E3E20D7

NEW QUESTION 3
Which Process type should you choose to model non-sequential process type in Oracle Integration Cloud (OIC)?

A. Adaptive Case Management process
B. Structured Process

C. Dynamic process

D. Unstructured Process

Answer: C

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud/user-processes/using-processes-oracle-integration-cloud

NEW QUESTION 4
What are the three threshold values for Database space?

A. Quiesced Mode Threshold
B. Un-Quiesce Threshold

C. Warning Threshold

D. Error Threshold

Answer: ABC

NEW QUESTION 5
Which two are ways the Oracle Internet of Things (loT) Cloud Service environment can be accessed?

A. using SOAP Interface
B. using REST Interface
C. Using a desktop client
D. using Web Browser

Answer: BD

NEW QUESTION 6
Which four are states that a device can be in throughout its lifecycle?

A. Activated

B. Decommissioned
C. Disabled

D. Saved

E. Deactivated

F. Registered

Answer: ABEF

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/developing-applications-oracle-internet-things-cloud-servi

NEW QUESTION 7
Which two actions can be repositioned in integration with Oracle Integration Cloud (OIC)?
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A. Function Call

B. Switch

C. Stage File with Read File in Segments
D. Stage File

Answer: AB

NEW QUESTION 8
Which three are ways enterprise applications can interact with Oracle Internet of Things (IoT) Cloud Service?

A. send commands/messages

B. insert/update/delete data

C. subscribe to data

D. query data

E. subscribe to commands/messages

Answer: ABD

NEW QUESTION 9
Which is NOT an activity that an Application Developer (APl Consumer) can perform in the Developer Portal in Integration API Platform Cloud Service?

A. Learn about APIs

B. Subscribe to a plan
C. Create an API

D. Test an API

E. Create Application
F. Monitor performance

Answer: F

Explanation: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfdv/typical-workflow-consuming-apis.html#GUID-0

NEW QUESTION 10
Which four are valid for integration using Service Oriented Architecture Cloud Service (SOACS)?

A. Retrieve/Update supported data elements on the SaaS applications using REST Services in real time.
B. SOACS has read access to HCM and ERP Cloud (SaaS) Applications data.

C. Create Files in the required format and Orchestrate PBL data loads into the HCM/ERP Cloud.

D. Create Files in the required format and Orchestrate FBDL data loads into the HCM/ERP Cloud.

E. Create Files in the required format and Orchestrate ADFDi data loads into the HCM/ERP Cloud.

F. Create Files in the required format and Orchestrate HDL data loads into the HCM/ERP Cloud.

Answer: ABEF

NEW QUESTION 10
What fields are used to define static or dynamic list of values in web forms in Process Cloud Service?

A. Links, Email and Message Fields

B. Checklists, Radio button or Select controls
C. Date, Time and Number Fields

D. Text Input and Area Fields

Answer: B

Explanation: To configure static and dynamic list of values (for checklist, radio button and select controls):
© From the Basic Palette, drag and drop a checklist, radio button or select control onto the canvas.

© select the control and configure its static list of values on the Properties pane General
tab.

© Goto Option Source
O hthe Option Names

O hthe Option Values
and clickStatic.
field, enter a label to display for each option. field, enter an internal value for each option.

> Specify a default value from the option values available in the Default Value
field.

© selectan option in the Autofocus
loads.
field to make that option the selected option when the form

o Optionally, configure dynamic list of values for the checklist, radio button or select control. There are two options to configure dynamic list of values.
> Specify that the control’s options should come from a list of value data attributes defined in the Data definition pane.

© ciick From Data.

O select the list of values options source from available attributes in the Options List field.

> Specify a default value from the options available in the Default Value field.

>
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Select an option in the Autofocus form loads.
field to make that option the selected option when the

> Specify that the control’s options should come from a REST connector created for the application.
© Click connector.
o Specify the connector settings in the Connector, Resource and Operation fields and map response settings. See Populating Controls Using REST Calls.

© selectan option in the Autofocus form loads.
field to make that option the selected option when the

© Click Preview to try out using the control.
https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-advanced-controls.html#GUID-0A790FES5

NEW QUESTION 12
Which two statements about lookup are correct?

A. Create a lookup to map values between application.

B. Lookups are deployed as part of integration activation.

C. Changes made to lookups already used in active integrations take effect imnmediately.
D. You cannot clone a copy of an existing lookup.

Answer: AC

Explanation: https://docs.oracle.com/cloud-machine/latest/intcs _gs/ICSUG/GUID-084B7E40-542A-4CDD-A1B0-282B1DA
https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/managing-lookups.html#GUID-93229925

NEW QUESTION 16
Which two are types of Authentication that are supported for Services in Integration API Platform Cloud Service?

A. Kerberos

B. WSS Username Token
C. OAuth2

D. BasicAuth

Answer: CD

Explanation: https://cloud.oracle.com/opc/paas/datasheets/APIPCSDataSheet_Jan2018.pdf

NEW QUESTION 21
What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service?

A. Batch Analytics Processors

B. Natural Analytics Processors
C. Static Analytics Processors

D. streaming Analytics Processors

Answer: AD

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding-analytics-processors.htmi
he type of analytics processor to use depends on the nature of your data:

o Streaming Analytics Processors

Use streaming analytics processors to analyze high volumes of rapidly changing data streamed from your sensors and devices. Streaming analytics processors
are continuously running from the moment you deploy them, waiting for your devices to stream data.

See Creating Streaming Analytics Processors.

O Batch Analytics Processors
Use batch analytics processors to analyze large volumes of batch data. Typically, batch analytics processors process data stored in the Oracle NoSQL or other
data sources. Unlike streaming analytics processors they are not continuously running, they only run when you call them using the REST API they expose.

NEW QUESTION 22
Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise systems. What are 2 key elements that you
need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.

B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.

D. The DMZ needs to open port 80 for proper connectivity.

Answer: AC

NEW QUESTION 26
Which three are types of certificates that can be imported from Settings?

A. Identity Certificate
B. Multi Domain SSL Certificate
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C. Trust Certificate
D. Message Protection Certificate
E. Unified Communications Certificate

Answer: ACD

NEW QUESTION 27
Which built-in API platform policy lets you manipulate the request context?

A. Application Rate Limiting Policy
B. Key Validation Policy

C. Redaction Policy

D. Groovy Script Policy

Answer: D

Explanation: https://docs.oracle.com/cd/E83857 _01/paas/api-platform-cloud/apfad/using-oracle-api-platform-cloud-service.p

NEW QUESTION 30
Which two statements are true about implementing an API-First strategy?

A. The API is to be developed first before any Ul or new business logic are created.

B. It generally is assumed that SOAP/WSDL are the key specifications for defining the API.

C. The code to execute business logic needs to exist and be exposed as an API first before you build a strategy around it.

D. You define the API definition/contract first before any work on its implementation or any applications that use it, allowing to work in parallel.

Answer: AB

NEW QUESTION 32

You provision an Oracle SOA Cloud Service instance and specify a compute shape so that the JVM heap size for WebLogic Serve, and Load Balancer processes
are determined automatically.

Which statement is correct after provisioning the instance in this scenario?

A. You can change the heap size to a maximum of 32GB.

B. You can change the heap size by logging a Oracle Cloud Support Service Request.
C. You can change the heap size by using the Weblogic Server Administration Console.
D. You cannot change the heap size once the Service Instance is provisioned.

Answer: C

NEW QUESTION 34
Which Enterprise Application System can be integrated with Oracle Internet of Things (loT) Cloud Service?

A. any system capable of receiving HTTP connections or making HTTP requests
B. only systems which are deployed on Windows or Unix platform

C. a system which exposes REST Service

D. a system which exposes WSDL

Answer: C

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/integrating-oracle-integration-cloud-service-oracle-iot-clou

NEW QUESTION 38
What options are available for Escalation and Expiration of human tasks in Process Cloud Service?

A. Escalate, Restart, Next or Previous

B. Renew, start, end, or error

C. Never Escalate, Skip, hierarchy, or New
D. Never expire, Expire, Renew, or Escalate

Answer: D

Explanation: Configuring Task Expiration, Renewal, or Escalation
You can configure a human task to never expire, to expire after a certain time, to renew the expiration time, or to escalate after a certain time passes.
To configure an action to perform on a specific deadline:

© Click the Escalation and Expiration
tab on the implementation pane.
The Escalation and Expiration tab appears.

© Use the radio buttons to specify if you want the human task to Never expire, Expire, Renew, or
Escalate.

O Never expire: the human task doesn’t expire and if no user completes it, it remains in the users task list for an indeterminate period of time.

o Expire: the human task expires after the specified time and is no longer accessible from the task list.

© Renew: when the specified time passes, the expiration date is extended for one more period until it reaches the specified amount of renewals allowed.
> Escalate: when the specified time passes, the human task is escalated to the specified escalation levels.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-934 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/1z0-934/ (71 New Questions)

https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-human-tasks.html#GUID-3869867C-45A

NEW QUESTION 43

Oracle JCA (J2EE Connector Architecture) Adapters simplify how applications connect to each other. Which three technology adapters are supported in Oracle's
Service-Oriented Architecture (SOA) Cloud

Service?

A. Oracle JCA Adapter for Sockets
B. Oracle EBS Application Adapter
C. Oracle JCA Adapter for Files/FTP
D. Oracle JCSA Adapter for IMS

Answer: ACD

Explanation: https://docs.oracle.com/cd/E28280_01/integration.1111/e10231/intro.htm#TKADP112

NEW QUESTION 47
Which is NOT a valid service provided by Oracle Enterprise Scheduler Service (ESS)?

A. running Java, PL/SQL, and binary script jobs

B. invoking jobs on external On-Prem and SaaS applications as scheduled on the Oracle Enterprise Scheduler

C. configurable to allow or restrict running multiple job requests associated with a single job definition concurrently
D. distributing job-request processing across a grid of application servers

E. invoking jobs on external On-Prem and SaaS applications as scheduled on the those Schedulers

Answer: B

NEW QUESTION 50
What policy is required to be in an API if that API is to be used under a Plan?

A. Application Rate Limiting
B. Basic Auth

C. Key Validation

D. Interface Filtering

Answer: C

NEW QUESTION 51
Which two options cannot be performed from the Monitoring Dashboard?

A. Activity Stream Download
B. Artifacts Download

C. Download Incident Logs
D. Download Lookup

E. Download Diagnostic Logs

Answer: BC

NEW QUESTION 53
Which setting is used for a system that is hosting a web application to be allowed to access Oracle Internet of Things (I0T) Cloud Service resources?

A. Cross-Origin Resource Sharing (CORS)

B. Management Console Timeout Interval

C. Message Storage and Command Notification
D. OAuth Access Token Lifetime

Answer: A

Explanation: The cross origin resource sharing setting specifies if the system that is hosting a web application is allowed to access Oracle I0T Cloud Service
resources. The assumption is that the web application is running in a browser that is also implementing the CORS specification. Any browser based JavaScript
client running on the specified host can access Oracle 10T REST APIs. However they will need to follow the Oracle IoT REST API authorization process to run any
operations.

https://docs.oracle.com/en/cloud/paas/iot-cloud/iotsu/setting-cross-origin-resource-sharing-value.html

NEW QUESTION 55
Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order to deploy that API?

A. Manage API or Deploy API

B. Manage API

C. Entitle API

D. View all Details and Deploy API

Answer: A
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NEW QUESTION 59
What are the four steps required to complete the task 'create a connection'?

A. Configure Connection Properties
B. Import SSL Certificate

C. Test Connection

D. Select an Adapter

E. Configure Lookup

F. Configure Connection Security

Answer: ACDF

NEW QUESTION 62
What is the "Decision Table" in Business Rules in Process Cloud Service?

A. arange value set in a spreadsheet-like format that defines a list of allowed value ranges for the input and output data objects of a decision

B. a decision matrix that organizes if/then rules into a spreadsheet-like format, where rows represent conditions and actions, and columns match condition values
to action alternatives

C. an if/then rule that has one or more conditions (if statements) that together are true or false, and one or more actions (then statements) that are applied if the
conditions are true

D. a value set in a spreadsheet-like format that defines a list of allowed values for the input and output data objects of a decision

Answer: C

NEW QUESTION 63
Which APIs does Oracle Internet of Things (IoT) Cloud Service use to perform an analysis?

A. Native Spark Java APIs
B. SQL Queries

C. JavaScript APls

D. Big Data APIs

Answer: A

Explanation: Oracle IoT Cloud Service uses native Spark Java APIs to perform the analysis. Developers can use the Batch and Streaming spark APIs to write the
analytics processing logic.

Developers can also import external APIs and use them in their application. https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/analytics-oracle-iot-cloud-
service.html

NEW QUESTION 65
What are two key benefits of Oracle Web Service Manager (OWSM) in the management and security of Web services across the organization?

A. Security is controlled by the developer of the service and this gives greater control to the development of the service.
B. OAuth services are used for REST based services.

C. OWSM provide a framework that is externalized and declarative outside of the web service implementation.

D. Developers no longer need to understand security specifications and security implementation details.

Answer: CD

Explanation: https://docs.oracle.com/middleware/1212/owsm/OWSMC/owsm-intro.htm#OWSMC110

NEW QUESTION 67
Which is NOT a key advantage of using Oracle Integration Cloud (OIC)?

A. Public/Private Cloud Portability

B. choice of IDE for development

C. Auto Association of Oracle SaaS Applications
D. prebuilt integrations

E. recommendations

Answer: B

NEW QUESTION 70

What is the default value for Command Notification Timeout?
A. 5 seconds

B. 2 seconds

C. 10 seconds

D. 1 second

Answer: A

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotsu/setting-command-notification-timeout-value.html
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NEW QUESTION 71
Which two statements are true about Internet of Things (loT)?

A. Different 10T approaches need to be established integrate different technologies such as mobile, cloud, big data, and analytics, and connects everyday objects

to each other and to the Internet.

B. Cloud technology is well suited to enable 10T, offering high degrees of agility, low and flexible costs, and excellent resource utilization.
C. Using loT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and more tailored services that differentiate their

businesses.

D. IOT is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and sensors that can be embedded into all of the

various assets that need tracking.
Answer: AB

Explanation: https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf

NEW QUESTION 73
What are two possible reasons for a Gateway not getting started?

A. The loT Service may be down.

B. The provisioning file may contain correct Activation ID and Activation Secret.

C. There is an invalid certificate.

D. The provisioning file may contain incorrect Activation ID and incorrect Activation Secret.

Answer: AD

NEW QUESTION 74
Which Service-Oriented Architecture Cloud Service (SOA CS) component provides stateful orchestration?

A. Oracle Mediator

B. Oracle Business Activity Monitoring
C. Oracle Service Bus

D. Oracle Business Rules

E. Oracle BPEL Process Manager

Answer: E

NEW QUESTION 78
Which two statements are true regarding mapper activity?

A. You can drag and drop a source on to multiple targets.

B. You cannot drag and drop a source on to a target that is already mapped.
C. You can drag and drop function activity in the target.

D. You can drag and drop switcher activity in the target.

Answer: CD

NEW QUESTION 82

Which schema is used for defining the field structure of an analytic object?
A. Apache Avro schema

B. XSD schema

C. Database schema

D. XSL Schema

Answer: A

Explanation: Using Schemas to Define the Fields of Analytics ObjectsYou can import an Apache Avro schema file to define the field structure of your analytics

object.
To import a schema file, your analytics object must not have any fields defined.

The namespace and object name in your schema file must match the name of the analytics object that you created.

> After you create your analytics object, click Import Schema.

The file browser dialog box appears.

© select a valid Avro schema file from your computer and click Open.
For more information about Avro schemas, see Apache Avro.

The field structure defined in the schema file appears in the Fields section.

O Ciick save.
The field structure defined in your Avro schema file is imported to your analytics object.
https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/using-schemas-define-fields-analytics-objects.html

NEW QUESTION 87
Which four are key features of Oracle Integration Cloud Enterprise (OIC)?

A. Data stream analytics
B. Application Integration
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C. Web and Mobile application creation
D. Business process automation

E. Enterprise Service Bus (ESB)

F. Business to Business (B2B)

Answer: ABCE

NEW QUESTION 90
When a connection is in edit mode and the browser crashes, the connection becomes locked, which then prevents it from being edited. Which two users can
unlock the connection?

A. a user with the Designer Role

B. the same user who has edited the connection
C. any user

D. a user with the Administrator Role

Answer: BD

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/icsug/creating-connections.html#GUID-085410 Unlocking a Connection
When a connection is in edit mode and the browser crashes, the connection becomes locked, which prevents it from being edited.
To unlock the connection:

> Log in again as the same user who was editing the connection when the browser crashed, then log out. For example, if you were logged in as icsdeveloper
when the browser crashed, log in again as icsdeveloper,

and log out. This action unlocks the connection.

or

> Log in as a user with the Administrators role.

© 0n the oracle Integration Cloud Service home page, click Cthoennections
diagram.

> For the connection that is locked, click the menu at the far right, then selUecntlock.

NEW QUESTION 92
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